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BSEH Practice Paper (March 2024) 

CLASS: 10th (Secondary)       Code: B 

Roll No.  

ͪव£ान 

SCIENCE 

(Physics, Chemistry and Life Science) 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 60] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 15 हɇ 
और इसमɅ 30 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 15 in number and it contains 30 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 
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 अपनी उƣर पुिèतका मɅ खालȣ पÛना /पÛन ेन छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 
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 (iii) Marks of each question are indicated against it. 

खंड– अ 

SECTION – A 

(भौǓतक ͪव£ान) 

(Physics) 

1.  पिæ च म कȧ ओर Ĥ¢ेͪपत कोई धनावेͧ शत कण (अãफा-कण) ͩकसी 

चुबंकȧय ¢ेğ ɮवारा उƣर कȧ ओर ͪव¢ेͪपत हो जाता है। चबुकंȧय ¢ेğ 

कȧ Ǒदशा Èया है?         1 

  a) दͯ¢ण कȧ ओर  

  b) पूव[ कȧ ओर 

  c) अधोमुखी 

  d) उपǐरमखुी 

A positively charged particle (alpha-particle) projected 

towards west is deflected towards north by a magnetic 

field. The direction of magnetic field is: 

  a) towards south 

  b) towards east 

  c) downward 

  d) upward 

 2.  लघुपथन के समय पǐरपथ मɅ ͪवɮयुत धारा का मान:  1 

  a) बहुत कम हो जाता है। 
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  b) पǐरवǓत[त नहȣं होता। 

  c) बहुत अͬधक बढ़ जाता है। 

  d) Ǔनरंतर पǐरवǓत[त होता है।  

  At the time of short circuit, the current in the circuit: 

  a) reduces substantially.  

  b) does not change. 

  c) increases heavily.  

  d) vary continuously.  

3.  चुंबक कȧ चुंबकȧय ¢ेğ रेखाएं कभी भी एक-दसूरे को 

____________ नहȣं करती हɇ।     1 

 Magnetic field lines of a magnet never ____________ 

each other.    

 4.  उस पदाथ[ का नाम बताइए िजसका अपवत[नांक उÍचतम है। 1 

Name the substance which has the highest refractive 

index.  

5.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।         1 

अͧभकथन (A): वोãटमीटर को सदैव उन ǒबदंओुं से पाæव[Đम 

संयोिजत करत ेहɇ, िजनके बीच ͪवभवातंर मापना होता है। 

कारण (R): ͪवभवातंर कȧ माप ऐमीटर ɮवारा कȧ जाती है। 
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  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): Voltmeter is always connected in parallel 

across the points between which the potential difference 

is to be measured. 

Reason (R): Potential difference is measured by 

ammeter.  

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 6.  åयाÉया कȧिजए ͩक Ēह Èयɉ नहȣ ंǑटमǑटमाते।   2 

Explain why the planets do not twinkle.  
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 7.  ͩकसी Ǔनकट-Ǻिç ट  दोष से पीͫड़त åयिÈ त का दरू ǒबदं ुनğे के सामने 

80 cm दरूȣ पर है। इस दोष को संशोͬधत करने के ͧलए आवæयक 

लɅस कȧ ĤकृǓत तथा ¢मता Èया होगी?    2 

  The far point of a myopic person is 80 cm in front of 

the eye. What is the nature and power of the lens 

required to correct the problem? 

 8. ͩकसी ͪवɮयुत पǐरपथ का åयवèथा आरेख खींͬ चए, िजसमɅ 2 V के 

तीन सेलɉ कȧ बैटरȣ, एक 5 Ω ĤǓतरोधक, एक 8 Ω ĤǓतरोधक, एक 

12 Ω ĤǓतरोधक तथा एक Üलग कंुजी सभी ĮेणीĐम मɅ संयोिजत 

हɉ।          3 

  Draw a schematic diagram of a circuit consisting of a 

battery of three cells of 2 V each, a 5 Ω resistor, an 8 

Ω resistor, and a 12 Ω resistor, and a plug key, all 

connected in series.   

अथवा 

 Or 

  यह दशा[इए ͩक आप 6 Ω ĤǓतरोध के तीन ĤǓतरोधकɉ को ͩकस 

Ĥकार संयोिजत करɅगे ͩक ĤाÜ त संयोजन का ĤǓतरोध (i) 9 Ω, (ii) 

4 Ω हो। 

  Show how you would connect three resistors, each of 

resistance 6 Ω, so that the combination has a resistance 

of (i) 9 Ω, (ii) 4 Ω. 
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 9.  ͩकसी ͪवɮयतु इèतरȣ मɅ अͬधकतम तापन दर के ͧलए 840 W कȧ 

दर स ेऊजा[ उपभÈु त होती है तथा 360 W कȧ दर स ेउस समय 

उपभुÈ त होती है, जब तापन कȧ दर Ǔनàनतम है। यǑद ͪ वɮयतु èğोत 

कȧ वोãटता 220 V है तो अͬधकतम तापन कȧ िèथǓत मɅ ͪवɮयतु 

धारा तथा ĤǓतरोध के मान पǐरकͧलत कȧिजए।   3 

  An electric iron consumes energy at a rate of 840 W 

when heating is at the maximum rate and 360 W when 

the heating is at the minimum. The voltage is 220 V. 

What are the current and the resistance when heating 

is maximum?   

 10.  कोई 2.0 cm लंबा ǒबबं 10 cm फोकस दरूȣ के ͩकसी उƣल लɅस के 

मÉुय अ¢ के लंबवत रखा है। ǒबबं कȧ लɅस से दरूȣ 15 cm है। 

ĤǓतǒबबं कȧ ĤकृǓत, िèथǓत तथा साइज़ £ात कȧिजए। इसका आवध[न 

भी £ात कȧिजए।        5 

  A 2.0 cm tall object is placed perpendicular to the 

principal axis of a convex lens of focal length 10 cm. 

The distance of the object from the lens is 15 cm. Find 

the nature, position and size of the image. Also find its 

magnification.  

अथवा 

Or 

  ͩकरण आरेख बनाइए और अवतल दप[ण ɮवारा Ǔनͧम[त छͪव कȧ 

ĤकृǓत ͧलͨखए जब वèतु को (i) C पर और (ii) P और F के बीच 

रखा जाता है।        5 
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  Draw ray diagram and write nature of image formed by 

concave mirror when object is placed (i) at C and (ii) 

between P and F. 

खंड– ब 

SECTION – B  

(रसायन ͪव£ान) 

(Chemistry) 

 11.  Ǔनàनͧलͨखत मɅ स ेÈया उपचयन को रोक सकता है? 1 

  a) नमी 

  b) धूल 

  c) ĤǓत ऑÈसीकारक    

  d) ये सभी 

  Which of the following can prevent oxidation? 

  a) Moisture 

  b) Dust 

  c) Antioxidant 

  d) All of these 

 12.  Ǔनàनͧलͨखत मɅ स ेͩकसका Èवथनाकं सबस ेअͬधक है?  1 

  a) Èलोरोफॉम[ 

  b) एसीǑटक अàल 
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  c) एथेनॉल 

  d) मेथने  

  What of the following has the highest boiling point? 

  a) Chloroform    

  b) Acetic Acid 

  c) Methane 

  d) Ethanol 

13.  _______________ एक Ĥकार कȧ दवा है िजसका उपयोग अपच  

के उपचार के ͧलए ͩकया जाता है।     1 

_____________ is a type of medicine used for treatment 

of indigestion. 

14.  उस ͪवलायक का नाम बताइए िजसमɅ आयǓनक यौͬगक अघुलनशील 

होत ेहɇ।         1 

Name a solvent in which ionic compounds are insoluble. 

15.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।         1 

अͧभकथन (A): शçुक कॉपर सलफ़े्ट ͩĐèटल नीले रंग के होत ेहɇ। 

कारण (R): कॉपर सलफ़े्ट ͩĐèटलɉ मɅ ͩĐèटलन का जल होता है। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 
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  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): Dry copper sulphate crystals are blue in 

colour. 

Reason (R): Copper sulphate crystals contain water of 

crystallisation. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true, and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 16.  तांब ेके ͪवƭुत अपघटनी पǐरçकरण का एक नामांͩ कत आरेख बनाएं।

            2 

Draw a labelled diagram of electrolytic refining of copper. 

17.  अͧभͩĐयाशील धातु को तन ुहाइĜोÈलोǐरक अàल मɅ डाला जाता 

है तो कौन-सी गैस Ǔनकलती है? आयरन के साथ तन ुH2SO4 कȧ 

रासायǓनक अͧभͩĐया ͧलͨखए।      2 
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  Which gas is produced when dilute hydrochloric acid is 

added to a reactive metal? Write the chemical reaction 

when iron reacts with dilute H2SO4.  

अथवा 

Or 

  एक ͧमĮातु का नाम बताइए। इसके घटक ͧलͨखए। इसका एक 

उपयोग ͧलͨखए।        2 

  Name an alloy. Write its components. Write its one use. 

 18.  अपघटन अͧभͩĐया के तीन उदाहरण ͧलͨखए।   3 

  Write three examples of decomposition reaction. 

 19.  बेͩ कंग सोडा के तीन उपयोग ͧलͨखए।     3 

  Write three uses of baking soda. 

अथवा 

Or 

ͪवरंजक चणू[ Èया है? इसका उ×पादन कैस ेͩकया जाता है? इसके 

उ×पादन के ͧलए सतुंͧलत रासायǓनक समीकरण ͧलͨखए।.  3 

What is bleaching powder? How is it produced? Write 

balanced chemical equation for its production. 

20.  समजातीय Įेणी कȧटोन के पहले पांच सदèयɉ के नाम और संरचनाए ं

ͧलखɅ।          5 
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Write names and structures of first five members of 

homologous series ketone. 

अथवा 

Or 

  साबनु कȧ सफ़ाई ĤͩĐया कȧ ͩĐयाͪवͬध समझाइए।   5 

Explain the mechanism of the cleaning action of soaps. 

खंड– स 

SECTION – C  

(जीव ͪव£ान) 

(Biology) 

 21.  मिèतçक का मुÉय सोचने वाला भाग कौनसा है?   1 

  a) अĒमिèतçक 

  b) मÚयमिèतçक 

  c) पæ चमिèतçक 

  d) अनुमिèतçक 

Which part of brain is main thinking part?  

  a) Fore-brain 

  b) Mid-brain 

  c) Hind-brain 

  d) Cerebellum 
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 22.  मानव मादाओं मɅ कौन सा गुणसूğ नहȣ ंपाया जाता है?  1 

  a) X 

   b) Y 

   c) ये दोनɉ  

  d) इनमɅ से कोई नहȣ ं 

  Which chromosome is not found in human females?  

  a) X 

   b) Y 

   c) Both of these 

  d) None of these 

 23. वɮृͬध हामȾन ___________ Ēंͬ थ ɮवारा İाͪवत होता है। 1 

Growth hormone is secreted by __________ gland.   

 24. गुǽ×वानुवत[न Èया है?       1 

What is geotropism? 

25.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर 

दȣिजए।         1 

अͧभकथन (A): उ×सज[न भोजन के टूटने कȧ ĤͩĐया है।  

कारण (R): वÈृक उ×सज[न तğं का Ǒहèसा हɇ। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 
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  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): Excretion is the process of breakdown of 

food.  

  Reason (R): Kidneys are part of excretory system.  

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 26. हमारे ɮवारा उ×पाǑदत अजैव Ǔनàनीकरणीय कचरे से कौन-सी 

समèयाएँ उ×पÛन होती हɇ?      2 

What are the problems caused by the non-biodegradable 

wastes that we generate? 

अथवा 

Or 
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ओज़ोन परत कȧ ¢Ǔत को सीͧमत करने के ͧलए Èया कदम उठाए 

गए हɇ?         2 

  What steps are being taken to limit the damage to the 

ozone layer?  

 27.  बीज अंकुरण का एक नामांͩकत आरेख बनाएं।   2 

  Draw a labelled diagram of seed germination.  

 28. ÜलसैɅटा कȧ संरचना को èपçट कȧिजए।    3 

  Explain structure of placenta. 

 29.  मɅडल के Ĥयोगɉ ɮवारा कैसे पता चला ͩक ल¢ण Ĥभावी अथवा 

अĤभावी होत ेहɇ?        3 

  How do Mendel’s experiments show that traits may be 

dominant or recessive?  

 30. पौधɉ मɅ Ĥकाश सæंलेषण कȧ åयाÉया कȧिजए।   5 

  Explain photosynthesis in plants.      

अथवा 

Or 

  ͪवͧभÛन पथɉ ɮवारा Êलूकोज़ के ͪवखडंन कȧ åयाÉया कȧिजए। 5 

  Explain break-down of glucose by various pathways. 

 


